I=EK

| —

MHCTPYKLWS MO MOHTAXY
1 3KCMNYATALMM

PRIMER
NOYOK B BETOHHbIN NON

PM.LN43.001.1.MM

Cxema nagenus

BUHTbI KpenneHns nNMueson naHenu
1/17 TueBasi naHenb miodka
MogynesHoe 3YU
(B KOMNAEKT NOCTaBKN He BXOAUT,
HOCUT UNMIOCTPaTUBHbLIN XapakKTep)
Cynnopt
Camopesb! kpenneHus
HanonbHON KOpoBKu

BUHTBI PEryn1poBKM BLICOTI

HanorbHas nnacTukosas

1. PasameTka v cBepsieHUe oTBEpCTUN

OTMeTUTbL MecTo yCcTaHoBKM Atobenen

B COOTBETCTBUM C YKa3aHHbLIMI OTBEPCTUAMMU

M NPOCBEpPNUTL TPY OTBEPCTUS AnameTpoM 6 Mm

B 6ETOHHOM Mony, ucnonb3ys 6 ceepro no 6eToHy

A———m

YcTaHoBWUTb B OTBEPCTUS TpU Atobens P6x30.
my6vHa oTBepCcTUM AOIMKHA BbiTh HE MeHee 40 MM

2. PerynupoBka BbICOTbI

B 3aBucUMOCTY OT rMy6KHbLI MOHTaXHOMO NMPOCTPaHCTBA,
OTperynnpoBaTh BbICOTY HanosbHOW KOPOBKM C MOMOLLbIO
TPex perynmpoBOYHbIX BUHTOB.

MpyMeyaHue: BbICOTa HaNoOmbHOM KOPOGKU 59 MM.

Perynuposka BbICOTbI
BUHTamMun

MpoBepuTb POBHOCTb
NOBEPXHOCTHN HanonbHoi
KOpOGKM, NCMONb3ys YPOBEHb

H =1

15

59

E———n

3. KpenneHue HanosbHOW KOPo6ku
YcTaHoBWUTbL TPU camopesa B COOTBETCTBYIOLLE
OTBEPCTMSI HAMOMBHOM KOPOBKK 1 3aKPyTUTbL KX B At0Genst

ANS KpenmneHusi kopobku k GETOHHOMY nony.

3 camopesa Ans kpennexns
HanonbHoM KopoGku

o
sy

°
b 3 awbensa 44 %

4. CoepuHeHue Tpy6 n nposofoB

— yAanuTh 3arnyLku U3 oTBEPCTUIA Ansi BBOAa kabens
HanonbHON KOpobku;

— BbINOMHUTL BBOZ TPYObI (MakcumarbHbIi AnameTp
&20) B KOPOOKY

— YCTaHOBUTb 3aLLUUTHYIO KPbILLKY U 3aKpenuTb ee
C nomoLLbio ABYX BUHTOB M3x30 Kk HanonbHoW kopobke.

3 atobensa @6x30

33UJMTH3Q KpblLKa

OnekTpoMoHTaxHas Tpy6a
makc. @20 mm

5. BeToHnpoBaHue
3anuTb 6eTOH Ha BbICOTY YCTaHOBKM HAMOMbHOM

kopo6ku, OCTaBMB 3anac Ha TONUWMHY HanosibHOro NOKPbITUA.

TonwmHa HanonbHoOro
nokpeITa 11 Mm

BeicoTa 6eToHHON
CTSKKM

|

6. Yknapka GUHULLHOIO HanoJsIbHOro

NoKpbITUS

Mocne 3acTbiBaHUs GeTOHA CHSATb BPEMEHHYIO
3aALUMUTHYIO KPBILLKY U OCYLLECTBUTE MOHTaX (OUHULLIHOMO
HarosibHOro MOKPBITUS C BbIpe3aHHbIM OTBEPCTUEM MO
KOHTYpY HanonbHOW KOpobku. NoBEpPXHOCTb HaNonbHON
KOpPOGKK AOMKHa BbITb HA YPOBHE MOBEPXHOCTU
(PUHMLLHOTO HaMoOMbHOTO MOKPbITHS.

7. YcTtaHoBKa 3YU

— BCTaBUTb MNIOCKYI0 OTBEPTKY B V-06pasHyio BbleMKy
B CynrnopTe, 3aTeM crierka HaknoHWTb €€ OTHOCUTENbHO
Kapkaca nvueBOoi NaHenun n oTcoeamHuTb cynnopt (1);

— yCcTaHOBUTb Heobxoaumble YW B cynnopt (2);

— 3aLlenkHyTb cynnopT obpaTtHo B naHensb (3);

— y6eanTbest YTO BCe 3allenku HagexkHo
3adukcmpoBaHbl (4).

8. CoegmHeHue npoBoaoB
CoeanHnTb NPOBOAA YEPE3 COOTBETCTBYIOLIME
3aXKNMbI.

9. YcTaHoBKa Jilo4vka
YCTaHOBWTb MIOYOK B HAMOMbHY KOPOOKY U 3aKpenuTb
C NMOMOLLbIO ABYX KpenexHbix BUHTOB M3x30.

M3x30 BuHTbI KpenneHus
3aLUMTHOM KPbILLKM

10. Bo3aMOXHOCTb 6/10MHOMO MOHTaXxa

Kopo6ku HanosbHbIX fI0YKOB MOXHO COeAUHSTb
Mexzay coBOoM, 3aLlenkHyB Apyr ¢ APYroM, Npy NOMOLLM
cneumanbHbIX Nas3os Ha HarnomnbHOW KopoBKe.

Ea[’fﬂe .

=
HapaButb — —
—
U y O oT il
KaHanel Ans otBoAa BOAk!
HanpasrneHbl B OfIHY CTOPOHY

il HapaButb
—

11. SkcnnyaTauusa nspenus

YT06bI OTKPbITh KPbILLKY, HEO6XOAMMO 3aLenuTb
6onbLUMM NanbLeMm Kpai KpbILLKW U ¢ HebonbLLUM
ycunvem nogHsTh ee BBepx. B To Bpemsi koraa kpbiluka
yAepX1BaeTcsi B OTKPbITOM MOMOXEHUM, MOAKIIOUUTD BUIKY
B PO3ETKY.

Kpbiwka oTkpbiBaeTcs Ha 180°, 4To cHuxXaeT
BEPOSITHOCTb €€ NOBPEXAEHNS.

Mocne OTKNYEHNs OT PO3ETKU, OMYCTUTb KPbILLKY.

MpousBeaeHo: Yxau3sH CnHo dnekTpo-
TexHukan Ko., NTO

A5 6unguHr, Cynioit UhpacTtpuan 3oH,
Mowm, KOaumH, YxaussH, Kutan, 325604
Made by: ZHEJIANG SINO ELECTRO-
TECHNICAL CO., LTD

A5 Building, Sulv Industrial Zone, Liushi,
Yueqing, Zhejiang, China, 325604

N3paHwne 1



I=EK

| —

INSTALLATION AND OPERATION
INSTRUCTION

PRIMER
CONCRETE FLOOR BOX

PM.LN43.001.1.MM

Product diagram
i/i700ver panel mounting screws
Cover panel
Modules
(not included in delivery set,

for illustrative purposes only)
Card frame

Base box mounting screws

Height adjustment screws

Plastic base box

Expansion tube

1. Marking and drilling holes
Put marks on the concrete floor in the positions of the
three holes, then drill holes using the 6mm drill.

Through these 3 holes, put marks and drill
three @6 mm holes in the cement floor.

Fa—TH,
sl

- ]
| [

T T U

The depth of the holes must be at least 40 mm.
Insert the three @6x29 expansion tubes.

2. Adjusting the height

Depending on the depth of the installation space,
adjust the height of the base box by adjusting the three
height adjustment screws. Note: height of the base box
is 59 mm.

The height adjustment
screws

Use the level to measure the
base box to ensure it is level

T

—lo

59

E———n

3. Fixing of the base box

Feed the three self-tapping screws through the
corresponding three holes of the base box, screw them into
the expansion tube in the concrete floor to fix the base box
on the floor.

3 base box fixing screws

3 expansion tubes: F6x30

I

4. Connecting pipes and wires

— remove the plugs from the base box cable entries;

— feed a conduit (maximum diameter &20) through the
holes into the box;

— mount the dust cover on the base box and fasten it
with two M3x30 mouthing screws.

Dust cover

5. Concreting
Pour concrete to the height of the base box, leaving
a reserve for the thickness of the top layer.

Thickness of the
top layer 11 mm

Height of the 9
poured concrete

6. Laying the top layer

After the concrete floor has solidified, remove the dust
cover and lay the top layer with a hole cut along the contour
of the base box. Surface of the base box must be level with
the surface of the top layer.

7. Modules installation

— insert a flat-head screwdriver into the slot between
the card frame and the card panel, gently pry the side of the
card panel to remove the card frame from it (1);

— snap the desired modules into the card frame (2);

— snap the card frame back into the card panel (3);

— ensure that the hooks on the card frame are securely
engaged with the corresponding slots on the card panel (4).

8. Wires connection
Connect the wires to the corresponding terminals at the
back of the module.

T

9. Cover panel installation
Secured the cover panel into the base box using two
mounting screws M3x30.

M3x30 Cover panel mounting screws

[

ei]e

10. Possibility of block installation
Floor boxes can be connected to each other by
snapping them together using special grooves on the base

box.
) [
Push i\ Push
—_ —
o U U U J

The direction of the drainage
holes needs to be consistent.

11. Operating instructions

To open the cover, place your thumb into the groove on
the panel, apply gentle pressure and lift the cover upward.
While holding the cover in the open position, insert the
corresponding plug into the socket.

Cover opens 180°, which reduces the risk of damage.

After unplugging from the outlet, close the cover.

MpousseneHo: YxausaH CuHo dnekTpo-
Texnukan Ko., NTO

A5 6ungumHr, Cynioii Uhpactpuan 3oH,
Towwu, KOauumH, YxaussaH, Kutan, 325604
Made by: ZHEJIANG SINO ELECTRO-
TECHNICAL CO., LTD

A5 Building, Sulv Industrial Zone, Liushi,
Yueqing, Zhejiang, China, 325604

Version 1



